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pbeside’s polling




\ *HR & JSONP polling




\ iIFrame / HTMLFile streaming







\ iFrame / HTMVLFile streaming




\ Plugins, Java, Flash, Silverlight




\ EventSource and multipart XHR




\ window.name




the future

could we improve these techniques
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browser issues




Usage or detecting a HI TP proxy
(AutoProxyDiscovery) crashes < Safari

3.1.4 and Mobile YWebkit




Writing to a closed WebSocket

connection can crash the browser & tabs




3G connections can crash Websocket




Pressing ESC in Firefox will drop the
established connection. Even after the

page has fully loaded.




sending invalid UTF-8 drops the

connection




TCP socket leaks in Chrome if you get
disconnected from the internet




Firefox doesn't connect to ws:// from a

secure https page.
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3% of all requests on port 4000
were blocked

enterprise proxies usually block
¥ everything except port
80,443,843
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Problems with chat, invites and events? Read this!




to minimize the impact use SSL
by default

It this 1s not possible fallback

from different ports

4000 —— 843 — 80




0 Nttp proxy

reverse proxies like nginx, apache




Nosting




Nyorio

dodge firewalls, bring the best from the past
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websocket

l

plugins

l

htmifile




websocket

l

plugy




websocket

I

plugins

|

ntmifile

|




websocket

L

4000 —— 843 —— 80




INg solutions

wheel re-invention




® Engine.io

® Socket. O

® Sock.js

® Asockets (.net)

® APE push server
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